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1. The recurring part of the decimal2.952380 is
(i) 9523809952380 (ii) 2.952380 (iii) 95238092 (iv) 952380 (v) 952380952380

2. The recurring part of the decimal 16.22222222222222...is
(iy 222 (i) 22 (iii) 221 (iv) 2 (v) 16.2

3. Convert the non-terminating recurring decimal 0.3 to rational number

(i) 1 (i) 3 (iii) (3) (iv)

Convert the non-terminating recurring decimal 29.38095238095237...

4,
to rational number
(0 205 (i 619 (i) 617 (iv) 617 W) 617
i) — (i) — (i) — (v) — (v) —
7 21 23 19 21

62
5. Convert the fraction ) to non-terminating recurring decimal

(i) 6.8 (ii) 0.068 (iii) 688.8 (iv) 68.8 (v) 0.68

679
6. Convert the fraction-27 to non-terminating recurring decimal

(i) 25.148 (ii) 251.481 (iii) 2514.814 (iv) 2.5148 (v) 0.25148

7. Which of the following fractions converts to a non-terminating recurring decimal?
o % 22 2o B2 L
4 80 8 320 3
8. Which of the following fractions converts to a terminating decimal?
2717 325 53 53 265

(ii) (i) (iv) - (v) -

[
M 32 18 27 72 18

9. Which of the following is an irrational number?

L1903 .
(i) o5 (i) V14 (i) 20.5185 (iv) (-1) (v) 13

10. Which of the following is a rational number?

I 2 — 3. 3__
(iy v52 (ii) ) (iii) v35 (iv) v100 (v) v28
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20.
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22.

E 7
Xpress -
P 10

(i) 0.8

37
Express
100

(i) 3.7

413
Express
1000

(ii) 0.1

(ii) 0.04

(iii) 7 (iv) 0.5 (v)

(iii) 0.47

as a decimal correct to 1 decimal places

0.7

as a decimal correct to 2 decimal places

(iv) 0.17 (v) 0.37

as a decimal correct to 3 decimal places

(i) 0.413 (ii) 0.213 (iii)) 0.041 (iv) 0.513 (v) 4.13
Express as a decimal correct to 4 decimal places
10000

(i) 0.4781 (ii) 0.1781 (iii) 0.3781 (iv) 3.781 (v) 0.0378
3.7 =
(i) > (ii) > (iii) > (iv) 37 (v) 370
i ii iii iv v

10 100 1000
10.0 =
(i) 100 (ii) 1000 (iii) (iv) 10 (v) 1
17.75 =
(i) 1 (ii) (iii)y 1775 (iv) 71 (v) [
i) - ii iii iv) - V) -

4 400 40
9.571 =
9571 9571 .. 9571 | 9571 9571
(i) (iii) (iv) (v)

1000 10000 100 10 100000
1.2 =
(i) 120 (ii) (iii) (iv) 12 (v) >

25

2.10 =
(i) 21 (i) (i) 210 (iv) = (v) 21
i ii iii iv) - v

10 100
5.44 =
(i) 136 (i) (iii) 544 (iv) 272 (v) >
i ii iii iv) - v

25 5 625
2.847 =
. 2847 2847 . 2847 2847 2847
(i) (iii) (iv)

10000 100 10 100000 1000
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Which of the following symbols represent the set of Natural numbers ?

(i) W (ii) R (iii)) Q" (iv) Z (v) N

Which of the following symbols represent the set of Whole numbers ?

(i) R (i) w (iii)) Z (iv) Q (v) Q'

Which of the following symbols represent the set of Integers ?

(i) N (i) R (iii) Q" (iv) Z (v) Q

Which of the following symbols represent the set of Rational numbers ?
(i) Q (i) w (i) Q" (iv) R (v) N

Which of the following symbols represent the set of Irrational numbers ?

(i) Q" (i) R (iii) Z (iv) W (v) Q

Which of the following symbols represent the set of Real numbers ?

(i) N (i) W (i) R (iv) Q (v) Q'
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